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Which of the following is NOT a reason why countries trade goods with one another
A) differences in technology used in different countries

B) differences in countries’ total amount of resources

C) the proximity of countries to one another

D) differences in countries’ languages and cultures

. The focus of the Ricardian model is on how:

A) countries’ resource bases explain international trade
B) countries’ different technologies explain international trade
C) transportation costs explain international trade

D) different languages and cultures explain international trade

. In contrast to Ricardian model, international trade in the specific-factor model:
A) will lead to gains for all resources

B) will lead to losses for all resources

C) will lead to gains for some resources and losses for other resources

D) will not cause changes in the returns of any resources

. Why is the PPF bowed out in the Heckscher-Ohlin model?

A) capital is specific to the production of one good

B) labor is specific to the production of the other good

C) there are increasing opportunity costs of producing each good

D) labor is not perfectly mobile between the production of the two goods

The specific —factors model predicts that after immigration, the equilibrium wage in both
industries in the destination nation

A) rises

B) falls

C) remains the same

D) cannot be determined with the information given



6. U.S and European immigration policies are best described as welcoming
A) all foreign workers
B) foreign workers in most industries
C) foreign workers in select industries

D) no foreign workers

7. Suppose that imports and exports in an industry are $100 million and $200 million,
respectively. Will the index of intra-industry trade for this industry rise, fall, or remain
unchanged if exports fall to $100 million
A) it will rise
B) it will fall
C) it will remain unchanged

D) there is not enough information to determine how the index will change

8. What will happen when a fir raises the price of a differentiated product in an imperfectly
competitive market
A) it will see lower sales but will not lose all its sales
B) it will lose all its sales to competitor firms
C) it will actually get new customers from other firms

D) it will see an increase in revenues

9. In the long-run, profits in a monopolistic competition are zero because:
A) of government regulations
B) of collusion
C) firms are free to enter and exit the market

D) firms produce a differentiated product

10. A small country in international trade faces
A) a perfectly elastic world supply curve
B) a perfectly inelastic world supply curve

C) a perfectly elastic world demand curve
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12.
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14.

D) a perfectly inelastic world demand curve

In general, a tariff reduces the national welfare of the small importing nation because:
A) there is a fall in producer surplus

B) there is a rise in consumer surplus

C) the gain in consumer surplus is smaller than the loss in producer surplus

D) the gain in producer surplus is smaller than the loss in consumer surplus

Which of the following is NOT an effect of an import tariff?

A) It increases producer surplus by raising the market price and allowing more production
B) It raises government revenue

C) It reduces consumer surplus by raising the market price

D) It improves efficiency in the economy overall because it saves high-paying jobs

If a nation’s currency buys fewer units of a foreign currency today than ycstcrday, we say that
the value of its currency has

A) appreciated

B) depreciated

C) stagnated

D) become inverted

The forward contract differs from a futures contract in that

A) the forward contract is to be settled immediately

B) the futures contract specifies a fixed amount and arranged date, whereas the forward
contract can be for any amount or date

C) the futures contract cannot be traded in a market, whereas the forward contract can be
bought in the market

D) forward contracts are standardized, whereas futures contracts are not standardized
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The monetary approach to exchange rates describes:
A) along-run relationship between money, prices, and exchange rates
B) a short-run relationship between exchange rates and interest rates
C) a short-run measure of fluctuations in exchange rates

D) atheory based on the idea that exchange rates are constant in the long run

What is the situation when a home currency purchases more goods and services at home than
abroad when converted to a foreign currency?

A) The domestic currency is undervalued

B) The domestic currency is overvalued

C) The domestic currency is unstable

D) the domestic currency is depreciating

Evidence suggests that convergence to PPP occurs:

A) instantly, as arbitrageurs take advantage of profit opportunities

B) rapidly, as arbitrageurs learn of profit opportunities

C) slowly, as arbitrageurs operate, and production, prices, and exchange rate adjust

D) convergence to PPP have never been observed

. How could conditions of imperfect competition explain deviations from PPP

A) Imperfect competition means that prices are higher than costs and may not converge
B) Government often restrict trade in those goods
C) Goods sold under conditions of imperfect competition are often inferior

D) Arbitrageurs do not recognize profit opportunities in these markets

When currencies are viewed as assets, the price of a currency is its:
A) interest rate

B) exchange rate

C) inflation rate

D) growth rate



20. If the U.S. interest rate is 5% and the interest rate in Germany is 2%, and the euro is expected
to appreciate by 2% over the next year, then investors would
A) sell dollars in the spot market
B) buy euros
C) seek to invest in the United States

D) seek to invest in Germany






